
EPROM ERASER

Mazaní EPROM - co je a co není dovolené.

$E\�SURJUDPRYDWHOQp�D�89�VY�WOHP�PD]DWHOQp�REYRG\�S�LQiãHOL�PD[LPiOQt�XåLWHN�MH�SRW�HED�S�L�SURJUDPRYDQt

]DEH]SHþLW�VSUiYQê�DOJRULWPXV�QD�VSUiYQ��QDVWDYHQpP�D�VSUiYQpP�W\SX�SURJUDPiWRUD��7R�MH�VDPR]�HMPp�D�MDVQp�

&R�MH�YãDN�SRW�HED�Y�G�W�R�89�PD]DþNiFK�"�&K\ED��QHER�QHVSUiYQp�SRXåLWt�PD]DþN\�P$åH�]S$VRELW�VWHMQp�PQRåVWYt

SUREOpP$��MDNR�QHVSUiYQp�SRXåLWt�SURJUDPiWRUD��1D�REMDVQ�Qt��MDN�N�WDNRYêP�FK\EiP�P$åH�GRMtW��NUiWFH�]�WHRULH�

9\PD]DQi�(3520�Pi�YãHFKQ\�EX�N\�Y�VWDYH�+,*+��3�L�SURJUDPRYiQt�QDVWiYi�]P�QD��%X�N\�(3520��NWHUp�PDMt

EêW�QDSURJUDPRYDQp�GR�VWDYX�/2:�VH�QDELMt�S�LYHGHQêP�HOHNWULFNêP�QiERMHP�GHILQRYDQêFK�SDUDPHWU$��3URFHV

Y\PD]iQt�]QDPHQi�SRPRFt�89�]i�HQt�]YêãHQt�YRGLYRVWL�MLQDN�QHYRGLYp�L]RODFH�KUDGOD�QDWROLN��DE\�QiERM�]�EX�N\

PRKO�PLJURYDW�GR�RNROQtKR�N�HPtNX��%X�ND�VH�WtPWR�GRVWiYi�GR�VWDYX�+,*+�

1\Qt�GRYROWH�SRSVDW��MDNp�PRKRX�Y]QLNDW�FK\E\�S�L�PD]DQt�(3520�D�Y\YUiWLW�Q�NROLN�PêW$��NWHUp�NROXMt�RNROR

tohoto procesu.
Nesmysl:�9\PD]DQt�REYRGX�QD���PLQXW�D�QiVOHGQi�NRQWUROD�Y\PD]DQt�MH�GRVWDWHþQi�D�]MLãW�Qt��MHVWOL�MH�REYRG
G$NODGQ��Y\PD]DQê��

FAKT:  EPROM-N\�SRW�HEXMt�QD�VSUiYQp�Y\PD]iQt�S�HVQ��VSHFLILNRYDQRX�GiYNX�89�]i�HQt��7iWR�GiYND�MH
VSHFLILNRYDQi�YêUREFHP�(3520�YH�IRUP��FHONRYp�GiYN\��integrated GRVH��]i�HQt�QD�MHGQRWNX�SORFK\��7iWR�GiYND
MH�W\SLFN\���:VHF�FP���8GDQi�KRGQRWD�MH�SUR�VSUiYQp�Y\PD]iQt�PLQLPiOQt�D�P$åH�NROtVDW�SRGOH�YêUREFH�D�W\SX

REYRGX��Y]SRPH�PH�QD�KUGLQVNp�VRY�WVNp�(3520���3UR�YêSRþHW�GRE\�PD]DQt�MH�WHGD�SRW�HED�Y�G�W�WXWR�FHONRYRX

GiYNX���XYDåXMPH���:V�FP���D�89�YêNRQ�SRXåLWpKR�PD]DþN\�(3520���=�WRKR�GRED�PD]iQt�MH���������� ����

sekund, tedy s mírnou rezervou 15 minut.
3UR�GDOãt�SRXåLWt�]DYH�PH�SRMHP�SRGPD]DQi�(3520��UHVS��EX�ND�Y�(3520���-H�WR�(3520��UHVS��EX�ND�Y

(3520���NWHUi�QHGRVWDOD�SOQRX�S�HGHSVDQRX�GiYNX�89�]i�HQt�

Nesmysl :�3RGPD]DQi�(3520�VH�XNiåH�MDNR�QHY\PD]DQi�S�L�NRQWUROH�Y\PD]DQt��%/$1.�&+(&.��QHER�S�L�WHVWX

QD�Y\PD]DQt�S�HG�SURJUDPRYiQtP�

FAKT: �3RGPD]DQi�(3520�QD�FFD�����SURMGH�WHVW\�QD�Y\PD]iQt��8�Y�WãLQ\�SURJUDPiWRU$�VH�WHQWR�WHVW�Y\NRQiYi

]D�VWDQGDUGQtFK�SRGPtQHN��WHGD�9&& �9��S�tSDGQ��9&& �9������3RGPD]DQi�(3520�MH�WHG\��V�EX�NDPL�MHãW�

þiVWHþQ��QDELWêPL��S�HþWH�MDNR�Y\PD]DQi��3R�GREX��SURJUDPRYiQt�MH�YãDN�REYRG�Y\VWDYHQê�9&&�RG��9�Y\ããt�D�933

RG���9�Y\ããt��SRGOH�W\SX�DOJRULWPX��QDYtF�V�LQWHUQtP�RWHSOHQtP��3RGPD]DQp�EX�N\��NWHURX�QHPiPH�Y�~P\VOH

QDSURJUDPRYDW��P$åH�E\W�]D�W�FKWR�SRGPtQHN�]YêãHQpKR�QDSiMHQt�D�URVWRXFt�WHSORW\��S�HþWHQp�MDNR�QDSURJUDPRYDQp�

7RWR�]S$VREt�Y�WRPWR�OHSãtP�S�tSDG��FK\EX�S�L�SURJUDPRYiQt��DOH�MHVWOLåH�WDWR�(3520�SURMGH�SURFHVHP

SURJUDPRYiQt�D�MHMt�QHSURJUDPRYDQp�EX�N\�VH�MDNR�FK\EQp�SURMHYt�Då�SR]G�ML��SRWRP�PUKiWH�FHQQê�þDV�LGHQWLILNDFt

FK\E\�Y�]D�t]HQt�

Zapamatujte si :
• 2EYRG��NWHUê�MH�S�HþWHQê�MDNR�Y\PD]DQê��QHPXVt�EêW�VNXWHþQ��SUi]GQê�

• 9åG\�]DMLVW�WH��DE\�REYRG\�E\OL�Y\PD]iYDQp�GRVWDWHþQ��GORXKê�þDV�D�WHGD�REGUåHOL�PLQLPiOQt�S�HGHSVDQRX

GiYNX�89�]i�HQt�

• 3�HVY�GþHWH�VH��MHVWOL�MH�RNpQNR�REYRGX�S�L�Y\PD]iYDQt�þLVWp��=E\WN\�OHSLGOD�SR�RGVWUDQ�Qt�RFKUDQQp

VDPROHSN\�PRKRX�UHGXNRYDW�89�]i�HQt�Då�R�����

• -HVWOL�VL�QHMVWH�MLVWL�NYDOLWRX�89�WUXELFH�Y�PD]DþL��Y\P��WH�Mt�UDGãL�G�tYH��QDS���NDåGê�URN�QHER�SR�����

KRGLQiFK�SRXåtYiQt�

• -HVWOL�PiWH��SURJUDPiWRU�V�PRåQRVWt�PDUJLQiOQtKR�WHVWX�SR�SURJUDPRYDQt��QDVWDYWH�VL�WXWR�YROEX�

• 2FKUDQQRX�VDPROHSNX�]�RNpQND�REYRGX�RGVWUD�XMWH�MHQ�SR�GREX�HWDS\�Y\PD]iYiQt�

$�UDGD�FHONHP�QD�]iY�U��

 'R�YêERMN\�PD]DþN\�MH�YKRGQp�S�HVWDW�QDKOtåHW�G�tYH��QHå�Mt�S�HVWDQHWH�YLG�W.


